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ATIVE ASSESMENT - 2024
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vss ¥ SECOND TERM SUMM

7 - Std MATHEMATICS
~ Time : 2.00 hrs — = _E\\‘f
; - PART - A .
. o
I Choose the correct answer: . equal to . LES
1. A cricket pitch is ab ut 264 JTS 10 () e A A e
i ‘ a) 26.4 b) _ c) 0.264 d) 0.02 64
. ' lue Of "I iS cvveresrraseast ‘
o 2 If the circumference of a clrcle js 82x. The\/'fcm ! oy
e a) 21 cm b) 20cm
3 - The-unit digit of (32 X 65)°1s d)~/1\
A2 b) 5 )0 )
4.  The exponential form of 72 i5 ) 29X F VAR
A @) 72 b) 27 ¢
5. . What is the sum of the element of ninth row in the Pascals ;rx?fgée
a) 128 b) 254 c) 256 )
et 5X1=5
I Say true or false.
6. 45.50 > 45.55. {CUZ by
7.  Circumference of a circle C = 2ar units.\ {)[
. 8. 34)(37:_.311x/\
9. Area of a rectangle is A /b sg.units. X \ ( {
10. The sum of the interior angles in a trnangle IS 180",
. . _
IXT  Fill up the blanks. o2 2
11, The degree of the constant\term , N N/ : C‘;gws,, Ohg
12. Area of thecircleis ....... *...:;f.....,,sq units. N '\’Emunr/)\w””V:‘)"f)“"""f'
. oo BN ou gt
o 13. The quotient rule of expongi R : p’;"?és(z;n'*c?’s’rgr“?ck
' 14, The value of (-4)* = .. U : H73506
'15. Each angle of an equnlateral triangle is OF . ivesonmssercines measure
)" v _Match the following. _ | 5X1=5
16. 100 cm - am=" 77
©17. Area of the circularpath - 1Y
18, Product rule am x a" - 5 5
19, (14 x 21)° - xR -k
'20. The deqree of 12pq r2 - -1 metre ﬂ
N\ | . PART - B ¥ .-
v Answer any 10 questions. : - ' 10 X 2 = 20
9 - 4
21 Fmd the decimal form of the fractlon 999 + 99 + 9 +i0 + 1()0 3
, '22. Find the circumference of a CIrcle whose rad:us is 49cm. ,
it e s PRy , s ‘ -HSS . 7 asmuf'g;m
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. s - SR S |
23,} :Ar::a‘r.\g the following in ascending order(2.35, 2.53, 5-%2', 3-5%,3.3‘5’

i ] " " : 2
24. Find the area of the hula lamp whose diameter is 28cm (ﬁfé);

25. Find the value of 22 + 52, ¢ 7“\, : |
26, Simplify : 57 x 5. Jt3 =l iy
| - 4

27\ Can 5cm, 9cm and 14cm be the sides of a triangle? s,
28. Express in exponential form -(5 X S)X 7X7X7) %
- XA TAT !
| : ' & £ %%
+29. Find the value of "x'. - i 2 %% e %2,
£ , (‘f [y , .boo‘;’;?‘oo( 3 7’9
byt @ ' L AN
AUl | %% 2%
30. // " In APQR, find the exterior angle ZSRQO . "3,«06,\’};. OQ:’ v
) p/ S D s _'_L’.I o
;1/\ The circumference of a circle is 1760cm, find the radius.
3§ Add (9x + y) and (10x - 9y) and find the degree.
v _Can you draw a triangle with 259, 65° and 80° as angles.
3 . ,': ’/;
34. Find the value of "x’. /N
/
'35. Find the elements along the sixth row of Pascals triangle.
PART - C
5X3=15

VI Answer any 5 questions.
. .36. Express 512 in exponential form.
37. If the circumference of the circle is 132m.

.+ diameter. |
38. Express 729 in exponential form.
. : ,. 2 -f 28 X35X54 )
39.. Simpli y'. X5 N o |
' 40./]Add the expression 4x2 + 3xy + 9y? and 2x* - Oxy + 6y?.

' 41411: p=-2,Q=1 and r = 3 find the value of 3p*g’r.

AT
.- /Z
. ‘ i/

e

AN |
. 25/ 40
4‘JXCan r.o,w' sum of elements in a Pasca |
249 ' ‘ L " -'PART"D' : ;o - {5 <=5
- VII- Answer any one. _6.4'cm, ZY = 7.7cm ald 7 = 5ch.

44. Censtruct a triangle XYZ, XY = —_no | A
,.' A L A : J T A — : d : = O . :

Then calculate the radius and the

'42_':- ,F;nd ’t‘he, angle e

I's triangle form a pattern.
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